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Summary
Master theorem is a shortcut:

Theorem
If T (n) = aT

(︀ ⌈︀
n
b

⌉︀ )︀
+ O(nd) (for constants

a > 0, b > 1, d ≥ 0), then:

T (n) =

⎧⎪⎪⎨⎪⎪⎩
O(nd) if d > logb a

O(nd log n) if d = logb a

O(nlogb a) if d < logb a



Summary
Master theorem is a shortcut:

Theorem
If T (n) = aT

(︀ ⌈︀
n
b

⌉︀ )︀
+ O(nd) (for constants

a > 0, b > 1, d ≥ 0), then:

T (n) =

⎧⎪⎪⎨⎪⎪⎩
O(nd) if d > logb a

O(nd log n) if d = logb a

O(nlogb a) if d < logb a


	What is the Master Theorem
	Proof of Master Theorem

